AP Multiple-Choice
NON-Calculator

d
1. Suppose xy = 1. Find the value of d—y atx=-2.

X
3
A =
4
1
B. =
2
C.0
1
D. - =
4

E. Not enough information

d
2. Find &y when x> —xy + y* = 17.

dx
A W 2
dx 4y°-x
dy y-2x
B. ==
dx 4y®—x
dy y-2x
C ==>—
dx 4y
dy 17-2x
D. L=
dx 4y®—x

E. Not enough information

3. Find g—ywhen cos(x+3y) =xtany.
X

A dy _ —tany
" dx  xsec? y+3sin(x+3y)
B dy _ sin(x + 3y)

dx  xsec?y+3sin(x+3y)
c d_y=_sin(x+3y)+tany
" dx xsec’y
5 d_y:_ sin(x+3y)+tany
" dx xsec? y+cos(x+3y)
£ d_y=_ sin(x+3y)+tany
" dx xsec?y+3sin(x+3y)




